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Seminar 4

Using OLS in Stata:
Functional Form, Data Scaling and Selection of Regressors

1 Running a Regression with Different

Functional Forms Using OLS

1. Import the Stata data file "reg01" from the e-course platform.

2. Run the linear regression given by

log(income) = β0 + β1educ+ β2jobexp+ β3race+ u

3. Interpret the OLS coefficients (intercept and slope coefficients). When
doing it, make sure to discuss the sign of the coefficient, its magnitude
and ceteris-paribus interpretations, as well as statistical significance of
the coefficients. How did the results change compared to a case where
income was in level form? For reference, below is the regression output
where income was in level form:

4. Run the linear regression given by

income = β0 + β1educ+ β2jobexp+ β3jobexp
2 + β4race+ u

5. Interpret the OLS coefficients (intercept and slope coefficients). When
doing it, make sure to discuss the sign of the coefficient, its magnitude
and ceteris-paribus interpretations, as well as statistical significance of
the coefficients.

1



AMERICAN UNIVERSITY - CENTRAL ASIA
Econometrics I (ECO 608)
Nurgul Tilenbaeva

20.10.2022

6. Run the linear regression given by

income = β0 + β1educ+ β2jobexp+ β3jobexp ∗ race+ β4race+ u

7. Interpret the OLS coefficients (intercept and slope coefficients). When
doing it, make sure to discuss the sign of the coefficient, its magnitude
and ceteris-paribus interpretations, as well as statistical significance of
the coefficients.

2 Goodness-of-Fit and Selection of

Regressors

1. We want to choose between the following models

income = β0 + β1educ+ β2jobexp+ β3jobexp
2 + β4race+ u

and
income = β0 + β1educ+ β2log(jobexp) + β3race+ u

Run the respective regressions in Stata and make the case for one of
the models using adjusted R-squared.
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